000000001 (OoDO 003ab00O0)

20040 1

Vo =
V1 =

Vyou = Vo V10203,

Vg =

vy =

000'00o0Do0O0O0o00OoOoO0n

[000]) 00000000 123400000

Vyou =

oboooooooo

(1) vy, 0000000

[0o0]

2 Ooobooon

000000 V=Cc3000000000000a0

lD0DO000000 123400000

Ogon = ( 3 ) 511,

oooog

gg od

0 230 (Ver 0.01)

ooobDoO vobo0o000 1000000
oboooo 50000000 1000000
obooo 300oobo0 100ob00oog

ugbooo 20000000 1000000

1 v9 = 3
2 v, = 5
3 7 vy = 1
4 vy = 1

000 AODOQOOODOoOOoOOoooDoogo

vo = (1234%7)+1=24+1=3
vy = (1234%5)+1=4+4+1=5
va = (1234%3)+1=1+1=1
vsg = (1234%2)+1=0+1=1



[D00] 0000000000 (A*=A4)0000000000 (U~

obooooo

Vo i —1

A=1 —i vy —i

-1 ) Vo

(1) 0000000000 ®,(2)0000000

[DoO] 0ooOooO

oboboobooobonod

Py(x)

ooooooooon

(2) DODODO0DOOOUDOOOOOO

Dp(z) =|A—zE|

|A —zE|
3 1 —1 x
- 3 =i |~ T
-1 1 3 T
3—z 1 -1
—i 33—z —1
-1 1 3—2x

(B—a) +i-(=i)- (=1) + (=1) i~ (=)

—@B-x)-i- (=) =i (=) B—2) = (-1)- B—=)- (1)
(3—2)3—33—x)—-2

27 — 27z + 927 — 2% — 94 32 — 2

—2% 4+ 922 — 242 + 16

—2% 4+ 922 — 242 + 16

=0 1)0OOOOO0OO00OO0O00OO0O000000

[000]00000000000000 $4(2)000000000 ®,(x)=00000 (000/000)000

gbooogogoooo



224922 — 2424+ 16 =0

goooooooboobooooooobooobobOboOooboobOooboOooooboobobooboOobboOooboboOog

tryogagag

ooo10000o0o000.

Da(l) = —(1)>+9(1)* —24(1) + 16 (10)
= —1+9-24+16 (11)

-0 (12)

(13)

0000000000000 0100000000000000000%4(x)0 2—1000000000

ogo

z? — 8 +16 (14)

gooopoooooo.

2?2 —8r+16= (. —4)> =0

gogano

000000000 0O0Ooooooo?o

ooo 0o 11,4000

(3) ADDDDOUUODODDUOOUDOOOOVODUOODDOUODOO w,u,us 0000000

(000 0000000000000 0000O000D0000000DO000000000D00O0OUDOOo

gboobooboooooboooooobaoo

0000000000000 000000000 (OD00D0DU000O00000O0O00o0OO0D.. ) D0D0oOoOo

ooboooooboobObOoooobOoboboooOoOooooooobooooooobooOooooooon

ooboobD o000

0000000000000000 30 (1,4,4)00000000020 (1,4)0000



gooboooooood

Av—av = 0 (16)
Av—aEv = 0 (17)
(A—aE)v = 0 (18)

goooooobgo

0000000 «0OO0DOOOOO0ODO W00

Wo={v= T2 [(A = aE)v}
T3
gooooooOoooobo w,0obhooooooooooooooooo

b0 100000000000 ODOO0OOOoOOoO0obOoOobObOooOobObOoOobobObOoooboOooooonog

oo w,ooooooooooo

1

Wi={v=| o [I(A-BEp=0)

gogn

3 0 —1 1 0 0 1
- 3 —i |—[0 10 o =0 (20)
-1 i 3 00 1 3
3-1 i -1 1
- 3—-1 —1 To =0 (21)
—1 i 3-1 3
2 i -1 1
—i 2 —i s =0 (22)

-1 7 2 I3



ooo

2r1 +izg —xz3 =0

—ir1 +2x0 —txzg =0

—x7; +ixe +2x3 =0
0oooooooooogo
000000000 O2;,20,23 00000000000 0000000000 ;0000000000
000o00ooO0O0 (()DoooO0U0o0000o00o0o0o0OoooOoO0oU0oO0DoUoooooooOooOoo
oooo4o

gbbooooboboooboooobboboo 200b0o0oboOonb
3ixy  +3x3 =0
Ta = —I3
goooooobobobooooob 220000000
—3iz1 4323 =0
T = —1iT3
000000000 (0000 000023 =t000..)
ry = —it
Ty = —t
r3 = t

ocooooooooo w00

Wi={v=| — [[teC}

ooooooboooooboooobooboboooobooobobobbobooboOt=—-10000

v = 1

000000 »wOOW,000000000°%0

000w 00000000ooo

U1
_ v 23
U1 ‘U1| ( )

30000000000000000 W, 000 v 00000000000000000000
40000000000 v0030000 (21,22,23) 0000000003 0000000000000000 200000000000020

00o0o00o000o0o0o0onD (=3—-2)00000000000OO0O
S00Do00DO00oO0O00OODO Wy 00000000 W,0000000



oooow,0000000¢
000 400000000000 ODOUDDOOO0OOOOOO (O)oOOO0OODODOOODOOUOOUOOO
000000000000070

ooboo w,0000b0b00oo0ooo

Wi={v=| a2, |I(A-4E) =0}
T3

gopooooooboobogd z,ze,zs 00000 OOODOOO0OO0OO0DOODODODO

—T1 +7,LE2 —xr3 = 0
—il‘l —x2 —img =0
—T1 +Z.’E2 —xr3 = 0

000000000000000000000000000000000 (+)00000000000
00000000000000000000000000O00®a

oboooooo w,0oooooooooooooon

T
Wy={v=| 2, ||v1+ —izz+23=0}

T3
goododooooooboooooooooo oo o o000 oooobobo oobbboooo
goooooon
000o000dod0blz,=000000 z=1000000000 23=—-1000000000 wve

goon

0000z, =0,z2o=10000023=¢0000
00000000000000000000000000000000000000000000000000000000000000000

goooo
‘00000 (000000)000000000000000000000000000000000
$000030000000000000000000000000000 200000000000000000000000 20000000

oooo




00000000000000D00000000000000®a
O0000Ow,v00000W, 000 000000000000000000000O0O0O0O0O00O0O0

O0o0o0ooooig

uy = vy (26)
1
= 0 (27)
-1
lup| =/ (ujuj) (28)
1 1
= (| o o | (29)
~1 ~1
= \/1-T40-04(-1)-(=1) (30)
= V2 (31)
v = |Z (32)
1
1
= E 0 (33)
~1
(34)
0 1
) = (|1 5| 0 (35)
i ~1

‘00000000000000000000000000000000 00000000000000000000 000000000000
000 o0000O00 oOOoOOO0OO0OO0OO0O0OO0O0OO0O0OOOOO0O0O0O0O0O0O0O0O00O00O0O0O0O00O00000O02;0 00 20 0000000
ooboobdooob0=x 00000002z 0 o0O0O0OO0O0O0OO0O0O0O0OCOOOOCOOCOCDOOOOO

goooboooooooooooooooooboooobo0oobooOoOooooOoOb0bOo00Oo0ob0 oboobooOoOoooOoOoOoObOOObOOobOOO
obooooobobo ooooOoObOOoOoOoOoOooobobOOobOOO0OO0oOoOooOObOO0OODbOOoOoOooOOooOOoOoOooOooon

gooobooooooo oboooOoOoOOoOoOoOoOoOooOoOobooboboOooOOOO0ObO0ObOb0 oOUOOOODOODOObOOOODOOOOODOOOO

gooooooooooooooboooOooboboooOoooooo
vogooooOo0000O00O00O0O00oOoo00O0oooo..o
Hgooo00000000000000000000000000000000000000000000000000000000



Jus]

us

7( 1 0 )
7 -1
1(0T+16+ (1))
2 ) i (=

V2
—t
V2
vg — (v3u2)usg
0 1
i1
1 NG 0
i -1
0 1
_
1 B) 0
7 -1

1
52
i
(ugus)
i i
SEYHERL
i i
2 T
% (| 2 2 |)
T /] \ 1

(46)



_ %% ) (52)
1

= % 2 (53)

(54)

oo0o0ow, 000000 «nO00W, 000000 w,uws000000000000000C0ODO0O0O0DOw
0O w,us 00000000 ODODDDOOOW,0 W,ODOOOOO0O00O00O0DOO0O0O00ODOOOO0ODOO

000020000000000000000 vOOOOooOoooooooooo

ooooooboooogd

1 1 1 (55)
U = — S Uy = — , U3 = ——
1 73 1 2 /2 0 3 NG 2
—1 -1 7
oooo
(4)U:(ul,uQ,ug)DDDDDDDDDDDDU*1DDDDDDD
[000]000o0oo
)
1
U = — 56
-1
)
V3
-1
V3i
3
= | ¥ (58)
_V3
3
1
vy = (59)
2 - \/5 O

2Oo0000w O0wue,us 0000000000000 00000OO



Il
S
[\
m‘& —
}l_. S —
~—
D
N

= 0 (61)
_ V2
2
)
1
us = % 2 (62)
)
)
V6
= I 2 (63)
)
V6i
6
- o (64)
V6i
6
(65)
oooto
U = (ul, Uug, Ug) (66)
V3i V2 V6i
3 2 6
_VB3 V2 A6i
3 2 6
oooo

0000000000%O0U-'0000000000000000000000
uy,uz,us 0000000000000000000 U = (ug,ue,u3) 00000000000%00000
OoU-'=U*000n

gooooon

vt = Ut (68)

BopoOoOo0000000D00000000000000D00000000000..0
Mopgogooooo
BOQgoDO0000000000000000000000000000000000000000000000000O0000000000000

000000000000 0000D00000000000000000000000000000000000000000000000n
oppoUu-looooOo00o0OU*00000000000...0



= tU
V/3i V2 /6i
3 2 6
— t
_V3 V2 VEi
3 2 6
V3i V3 _ /3
3 3 3
V6i /6 V6i
6 3 6
3 V3 _\3
3 3 3
= g 0 _g
N
6 3 6
_V3i V3 _ 3
3 3 3
= V2 V2
2 0 -
_ V6 V6 VEi
6 3 6
O0oooooooao
_V3i V3 V3
3 3 3
vt = V2 0 _¥2
2 2
_V6i V6 _ \/Gi
6 3 6

gooad

() ADODUDODOUOODODODOODUDODODOOOUDOD

[00O0] 000000 10000000 AOOD0O0OOOOOOOODOODOO0ODOOOO

Pl(U1,’LL2,U3) = (u1,0,0)

(72)

O00oo0O0op, 00000 100000000000 wwOOOOOOOOOOOODOOOODO (Oooo 4

)UOUOOOUOO0OO0OOO (00000w,ug )00000000000O0OOOOODOO

(ui,u2,u3) =U

oobooooooo

PU = (uy,0,0)



goooao

Py = (u,0,0)U*

oooo

oooobboboobooobooooobooooboooog

P = (u1,0,0)U7} (77)
31 V3i V3 V3
3 00 T3 3 3
= f
¥i oo 0 2o -2 (78)
V3 VB VB _ /B
T3 00 G 3 6
1 i _ 3
3 3 3
= |4 3 )
i1 1
3 3 3

oobooob 400000000 ALODODOOROOOODODOO

Py(u1,uz,us) = (0,uz,us)

ggobobbobobbooon

P4 == (07U2,U3)U71

goobooboooooobooooooboooboon

(0711/2’“3) =U - (U]_,0,0)

gogooooodaogoad

Py = (0,ug,u3)U™! (80)
= {U - (u1,0,0)}U°! (81)
= UU ' — (u,0,0)0U* (82)
- E-P (83)

0000000 0000FE (D000 )00O0DDOO0OD0OD AODOOOP,000000O0OO0OOYO

0000000000 00000000000000000000000000000

E = Pi+P (84)

A = 1P +4P, (85)



goo

ol
w

SV
Wi
Wl

wle
W=
wlno

gooo

ubooobboaboobdaboad

W= e W=

wln

Py =

Wl

Wl

(6) D0 AODDOOOOOOOOOOOO

[000] 0000000000000 0000000000D00D0O00OO0O0OOO0OO

2 _i 1
3 3 3
+4 z 2 1
3 3 3

Wl
Wl
ol

ls. ol
wl Wl

Wl
W=

[SNIES
wle.

W= W=
Wl W=

[SMES
Wl

wlro
W=

W=
win

M Py, + APy,

1P + 4P,

W Wl

Wl

W= ol

(M

W= Wl

Wl

W= Wl

W=

(94)



3 Uubuobouooogon

3.1 0OOOono
odoooDo0ooooooodooooooo
12?2+’ + 20y =1—1v
2. 22+ voy? + 2uzzy =1

3. 22+ 2+ 2zy +2usr + vy =0

3.2 0Od0oQd

goooooO0ooO0ooooodooooooo
a2+ y? + 22 +yz+zet+ay+20+2y+22=—v;
2. 22 + 9% + 2u3yz + 20002 = 0

3. zy+ 22 +vxr+uvzy=0



